



Our company

We are a family company founded in 1974 in Pavon Arriba, Santa Fe, entirely dedicated to the production and packaging of fresh vegetables and legumes ready for consumption.

For more than 45 years, and with an extensive network of distributors, we have been bringing fresh, top quality food to the consumer's table in a wide variety of presentations, designed for both home and gastronomic consumption.

Our products are accepted by national distribution chains, first level wholesalers, large supermarkets, self-service stores and small volume businesses, thus covering the entire consumer spectrum.

Our Development Plan aims to maximize agricultural production areas with guaranteed freshness and permanent supply for domestic and international consumption.

Adapting to market demands, we have a wide variety of commercial presentations for each of our products, from 350 g and 840g cans for home consumption to gastronomic presentations such as 3 k cans.

Export

We have extensive experience in foreign trade, both exporting our brands and manufacturing and packaging products for brands and marketing chains in other countries

We are productively and logistically prepared to respond to the requirements of potential customers abroad. Our geographical location, in one of the largest production centers in Argentina, places us in an unbeatable position for foreign trade, just a few kilometers from the ports of Rosario and Buenos Aires.



"To be a reference in the national and international food market for the optimal quality and range of our products and services, achieving the satisfaction of our customers and shareholders through the improvement and support of a human group fully identified with the ideals of the company and the continuous improvement of our Quality Management System."



Our products



PeasCan x 300 g
Can x 840 g
Can x 2.950 g



Mixed vegetables Can x 300 g Can x 820 g Can x 2.950 g



Mixed vegetables with Corn Can x 300 g



Peas and Corn duet Can x 300 g



Peas and Carrots Can x 300 g



Yellow Peas Can x 300 g



Corn Can x 300 g Can x 840 g Can x 2.950 g

Yellow



Creamy Yellow Corn Can x 300 g Can x 830 g



Creamy
White Corn
Can x 300 g
Can x 830 g



Beans Can x 300 g



Black Beans Can x 300 g



Red Beans Can x 300 g



*Lentils*Can x 300 g



Soy Can x 300 g



Chickpeas Can x 300 g



Beet Cubes Can x 300 g



Carrot Cubes Can x 300 g



Can x 300 g



Mixed Vegetables Can x 300 g



Yellow Corn Can x 300 g



Creamy Yellow Corn Can x 300 g

Vida



*Lentils*Can x 300 g



Chickpeas Can x 300 g



*Beans*Can x 300 g



SOy Can x 300 g



Logistical data

INALPA LINE				PALLETIZING			
DUN 14	EAN 13	DESCRIPTION	Bulks per floor	Floors per palle	Total et Bulks	Pallet high (m)	Paller Weight (kg
57792350067014	7792350067019	SOAKED DRIED PEAS X 300 GR"INALPA"	8	15	120	1,41	1.062
57792350067939	7792350067934	SOAKED DRIED YELLOW PEAS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067021	7792350067026	MIXED VEGETABLES AND LEGUMES X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067946	7792350067941	MIXED VEGETABLES AND LEGUMES WITH CORN X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067038	7792350067033	WHOLE YELLOW CORN KERNELS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067045	7792350067040	YELLOW CORN KERNELS CREAMY TYPE X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067052	7792350067057	WHITE CORN KERNELS CREAMY TYPE X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067069	7792350067064	SOAKED DRIED LENTILS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067076	7792350067071	SOAKED DRIED CHICKPEAS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067083	7792350067088	SOAKED DRIED BEANS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067090	7792350067095	SOAKED DRIED RED BEANS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067106	7792350067101	SOAKED DRIED BLACK BEANS X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067113	7792350067118	PEAS AND CORN MIX X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067120	7792350067125	PEAS AND CARROT CUBES MIX X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067137	7792350067132	SOAKED DRIED SOY X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067144	7792350067149	BEET CUBES X 300 GR "INALPA"	8	15	120	1,41	1.062
57792350067151	7792350067156	CARROT CUBES X 300 GR "INALPA"	8	15	120	1,41	1.062
47792350000052	7792350000054	SOAKED DRIED PEAS X 840 GR "INALPA"	8	12	96	1,45	1.125
47792350000106	7792350000108	WHITE CORN KERNELS CREAMY TYPE X 830 GR "INALPA"	8	12	96	1,45	1.125
47792350000939	7792350000931	WHOLE YELLOW CORN KERNELS X 840 GR "INALPA"	8	12	96	1,45	1.125
47792350000076	7792350000078	MIXED VEGETABLES AND LEGUMES X 820 GR "INALPA"	8	12	96	1,45	1.125
47792350002162	7792350002164	YELLOW CORN KERNELS CREAMY TYPE X 830 GR "INALPA"	8	12	96	1,45	1.125
27792350001925	7792350001921	SOAKED DRIED PEAS X 2,950 GR "INALPA"	7	7	49	1,30	1.036
27792350001949	7792350001945	WHOLE YELLOW CORN KERNELS X 2,950 GR "INALPA"	7	7	49	1,30	1.036
27792350001956	7792350001952	MIXED VEGETABLES AND LEGUMES X 2,950 GR "INALPA"	7	7	49	1,30	1.036

INALPA VIDA LINE PALL							
DUN 14	EAN 13	DESCRIPTION	Bulks per floor	Floors per palle	Total t Bulks	Pallet high (m)	Paller Weight (kg)
57792350067168	7792350067163	SOAKED DRIED PEAS X 300 GR"INALPA LIFE"	8	15	120	1,45	1.062
57792350067182	7792350067187	YELLOW CORN KERNELS CREAMY TYPE X 300 GR "INALPA LIFE"	8	15	120	1,45	1.062
57792350067199	7792350067194	WHOLE YELLOW CORN KERNELS X 300 GR "INALPA LIFE"	8	15	120	1,45	1.062
57792350067175	7792350067170	MIXED VEGETABLE AND LEGUMES X 300 GR "INALPA LIFE"	8	15	120	1,45	1.062
57792350067205	7792350067200	SOAKED DRIED SOY X 300 GR "INALPA LIFE"	8	15	120	1,45	1.062
57792350067212	7792350067217	SOAKED DRIED LENTILS X 300 GR "INALPA LIFE"	8	15	120	1,45	1.062
57792350067229	7792350067224	SOAKED DRIED CHICKPEAS X 300 GR "INALPA LIFE"	8	15	120	1,45	1.062
57792350067236	7792350067231	SOAKED DRIED BEANS X 300 GR "INALPA LIFE"	8	15	120	1.45	1.062



Begining





Quality from the begining

INALPA is fully integrated backwards. The fruits of our preserves are mainly produced in the southern lands of the province of Santa Fe, Buenos Aires and E. Rios, where the combination of fertile soils and optimal climate for this type of crops, allow us to produce high quality preserves with a high nutritional value

We have an Agricultural Division which monitors the production of our own fields and those of third parties, in order to ensure quality and supply to our industrial plant in optimal conditions

Our Development Plan is intended to maximise our agricultural production areas, thus guaranteeing fresh produce and a constant supply for national and international consumption











Technology







Inalpa is in a continuous process of updating all its industrial equipment, which places it at the forefront of canning companies in Argentina

It has a total of 3 grain packaging lines, in 300 grams, 840 grams, and 2950 grams. The installed processing capacity in 2 shifts of 9 hours at 300 grams is approximately 900,000 cans/day.

It is the company with the largest packaging capacity for whole yellow corn kernels in the country, with state-of-the-art American shelling and flotation separators, complemented by a packaging line, brine preparation, filling machine with pre-vacuum and Italian Zacmi brand Zanichelli meccanica s.p.a. 600 cans per minute seamer.

All our sterilization is done by cooker, which guarantees the food preservation process. We have 7 static cookers sterifer of Ferlo S.A. machinery of Spanish origin with circuits of 6 fully automated baskets.

The industrial process is completed with labeling and case packing lines for each of the formats, with the incorporation of a fully automatic wraparound packer suitable for trays and film - mod. TC400 Combi

ComPACT-Prasmatic brand of Aetna Group s.p.a. of Italian origin, which allows us to complete the entire supply chain

We have a Packaging Division, with an installed capacity of 580 cans/min, which allows a just in time self-supply with the Canning Division





Third party production

Inalpa S.A. is in the process of **FSSC 22000** Certification, during which it has already obtained the Certificate of Compliance with FSSC DEVELOPMENT PROGRAM LEVEL 2, which represents a new approach to food safety risk management throughout the supply chain, allowing us to meet the highest standards of quality of major national and international companies. Throughout this process Inalpa is audited by various international companies that guarantee the quality management and standards applied in the manufacture of our products.

The following are some of the companies that produce their products in Inalpa:















DÍA %







SA IMPORTADORA Y EXPORTADORA DE LA PATAGONIA (LA ANÓNIMA)



MAXICONSUMO



MAYCAR (VITAL)



YAGUAR



SUPERMERCADOS
MAYORISTAS MAKRO



сото



COOPERATIVA OBRERA



MICROPAK



MILLAN (SUPERMERCADOS ATOMO)



SOLDO HNOS. SA URUGUAY



LEOPOLDO GROSS & ASOCIADOS URUGUAY





VIVA IMPORT S.A.

dos santos pereira & cia. s.a.

BAVOSI

PANAMÁ / CUBA

PARAGUAY

DOS SANTOS PEREIRA

